WIMP search in Mono-Photon
Channel



Problems in the previous work
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Plots according to current sample
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Problems in the previous work
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Plots according to current sample
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Verifying photon reconstruction
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Direction of the photon with respect
to beam

Momentum, p vs. 6
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Tranverse momentum-phi
correlation
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Needs explanation

stine vs. ¢
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Problem In the Invariant mass?

Invariant mass, M
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Event number

him

Enties  87325| 5 him_mcr

= Mean 0002837 | § [ Entries 87325
= 2 Ll

= Std Dev  0.01083 z 10 = Mean  0.001948
- : F Std Dev 0.001235
S 10° -

E 107 =T

- 10 -

|-‘| PR ] I NS S AN SO NNNUNT ST NN T ST N MR 1l |H| H 1 ” |H| 1 H I~ m

002 004 006 008 01 012 014 016 018 02 N L I I I N A | NP I
M 0 0.02 0.04 0.06 0.08 0.1 0.12 0.14 N6 0.18 0.2



Future tasks

« Create relevant plots for the samples at 500
GeV



